Class:

Geometry B Practice Final Exam

Mhultiple Choice

Date: ID: A

Identify the choice that best completes the statement or answers the guestion.

1. You install fencing around your large triangular

garden, Then, you divide it info four small
triangular gardens by connecting the midpoints of
each side of the triangle with fencing. How many

feet of fencing do you need?

KH Kb' and e,. \i4
Hb- are ol H

o ;Js-egmm’?:’}") A o

4 2 G 20f B

a. 1951

B 189 f
c. 2521t
d. 126 ft

c 33;&1:6?
21%x> 63
Hx 3= "5"7

13q

Find the perimeter
off AARC YA KHL:

3 Find tl'; sum of the measures of fhe inteﬁbf 'aﬁ'g"les

of the given figure.

$=130(n-2)

n £ =1300(7-2)

/ ”‘;{1 \ S~ 10 S)

n-= |

$ = qo0°

a. 1620°
b. 1260°
c. 1080°
@ 200°

4, The sum of the measures of the interior angles of &

polygon is 1260°, Classify the polygon by the

2. List the sides of AABC from shortesﬂo longest. :Tlml;eezgé‘os;des. S = 80 (ﬂ" 2_)
)30 A The larger fe 0 08, 1260 = (B0 (n=3)
- §o . ?-Tk, the iw_e;zr nonagon | §0 1 g0
¢ epposite s ppdtovaleofx. T = p1- A
- <9 side. fi = r) |

61 8 - )
| c S 1ZO(8-2)
. s LT3 is the smalld $S=130(6)

b. EBZB,:E &njle, f—&;rc&/c ¢ = 08O
c. CB 4C, 45 N7 - beortet
@y AC, 4B, CB /AC s the sherl® _
side. w ewisy 1Ox+TH>=1080
¢. about 69.7 .nyy —NY3
@about%.? 3‘?
1o Jox="3
S~ a3 —_—
+ 57 126 2o 20
32
T 116 ¥ =32
i3/

743




Name:

6. Find the value of x.

Sus ot Fhe xterior
angles elweys = 36098

Qfl ST isa. I‘A&'Mbui ID: A |

the V'cl*’-f("g

10+ 210 = 360
-3 ~alef

[Ox = 150

7. For what values of x and y is quadrilateral ABCD

TEARD is a Porellelogren
tFhem +dee Offﬂ:’b!\h $:deys are =

parallelogram?

a x=27,y=12
b x=T,y=27

dx=7,y=2

d x=59,y=67

Nx - 336x-26
F33 #33

Vx=bxt ]
~bx ~bx
> =)

o

. o mZ1l =132° mL2 =24% ms3 =240,

ms4 = 24°

b, mLl=24°mL2 =78, mL3= 78S, mZ4 =78
e, mZl=
m/1 =90°, m/2 =24°, m/3 = 66°, mL4 = 24°

9. Find the length of the midsegmient of the trapezoid.
A 6 B

b T 46 c

b. 49
.20
.29

X MN T —5

5'7(-?'71:‘7'7{-90
S(MHI =t |
>5 413 :qyf-%
493 ':qy-r‘{o'
~So -4
3 =%,
G

-
X

i} v

>f

00°, mL2 = 24°, mL3 = T8, mabde= 24P <

The ézc suals arc L aeed bf‘:’?“-'f-'?{




Name:

10. A scenic overlook which extends over a ravine is

shaped like a kite. o .
, 260 ja a Kite
LXELT7
L0
. , =-iok
- Q0o
13X
W .
Find msX. l j—
a. 70° -?-—---: %]
b. 182° s
91°
d. 108°
11. Inthe diagram, AZI4 ~ AKYC. Find the value of
X,
! 1
21 27
KT 45 A
KX C
z ¥ 4
a. 7
b 11
&> 15 &1 - ..:-?i-
d 25 ":,,g 9.5
VS x = SAS
> s 25
> ""-'-'—'fg

12. AABC ~ ADEF. Find the length of median 70,

4 13 F 13

Sx~1

L .
v ‘l‘g V(S x—~1g) = Ax +HIE
& w0 10w ~3du TARE

13. A rectangular vard is fenced?n(us‘i.ng 33 feet of
custom fence. Your friends really like the fence and
decide to fence in their yard using the same fence,

Their yard is similar but has a scale factor of %

times the size of yours, how much fence, to the
carest foot, will they have to purchase?
444 feet
b, abow3dsreet L (333)= 44y
c. about477 feet 3
d. about250 feet

14, QRST ~ WXYZ, The area of WXYZ is given. Find

the area of ORST.
w Z
. 1 5.1
S
R 15 8§ x 30 ¥ L T _1'
A =480 sq in. (R..) - Zf
a 32’
b. 465in.’ i
¢ 240in’ 4 30( ‘l) = ]20
J 120 in.?




Name:

15. What is the length of AF?

17. Find the value of x.

ki * . 32
X - 2 AT
e T 15 2%
- 336 _ ]
a’7( - 2z gD . y W — -
— 2 ¢ -3 5 % /N >5 33
?-; Y 14 75 \/ < = 1%
a.. 30
S s 18
c. 173
a 17 d 22
;® ij, 18. In the diagram, 48 =12, Find AC and BC. Write
d., 24 your answers in simplest form.,

16. Walkers in a park have different benches where
they can stop and rest. How far is it between bench
“A” and bench “B”?

P % 13

c. 342 feet LISG 2"13

d. 207 feet
2M43% = 60,750
uy 24

5(*"'_"_25-0

12726

a AC=4,RBC=8

@ AC=6~3,BC=6

2 AC=8,BC=4
d. AC=6,BC=6~3




. Name: ID: A
19. A chemistry teacher makes a sign for the door to 21. Find the value of x.
the room that contains the chemi 38,
he-ganger sign is shaped like afy equilateral i2
trLangle ; stlmate the area of the st earest
£ / .
 Fir A R . SR, .- Y. T
HO
i a. x=365
B> x=13 1€9 ==
¢. x=~119 __J—"“ j
: ,. . d =17 /6 o
/€ | 1% =«
h-«;)&h:‘f—ﬂrj 22.
about 140.3 in.? 1
about 2806 A=3bh

about 54.0 in.°
about 70.1 in.”

Y

=1 (18 9V3)
=140-3

20. In the diagram, AC=x, BC=x, and AB = 12~/2,
Find the value of x. Write your answer in simplest

S nee ACE BT, phos

-~ 490

o —

¢0
fo-2=-YS5

@ 1= ley

¢c. y=96

d y=83 fq"i=féy
]6 /6




ID: A

... Name:

24. Find the value of x.
23,

A - W B c-'
a x=3

- AD-AB . gsﬁ% ~{4¢ 196
e AL =2 A AL Q2 x=NE o
AL B2 178 %< 93

n (1) | ~x =9

4 : 25. An adventure company wants to run a zip line from
b. w=2«1] 2 I? T) the top of one building that is 130 feet tall to the
c. w=A/11 = top of another building that is 30 feet tall. The two
/ buildings are 72 feet apart. Estimate the length (in
. = T - ;
é) w=NT7T W - r’ q feet) of the zip line. Round your answer to the
- S ' nearest tenth,
i diing ? ? a. about 1720t ;pp
: & about 12321t
c. about 69.4 ft #°
d. about 100.0 ft ‘

7

26, A caris traveling along a road that makes a 10° angle with the ground. Find the elevation (x) of the caron a
stretch of road that extends horizontally 86 meters. Round your answer to the nearest tenth.

25, 92 4100 = "
S84 + 10,000 =x

1SI18% ==~
2B =HA
J—
Not drawn to scale
about 152 m ¢. about55.8m ‘f‘q PH ]0 - _g-g
b. about487.7m d. about 132.6m
27. nglW:O.?S’ < ¥4 m’tklﬁ‘l‘?x 986 f“-"- D -
about 52.2° c. about0.014° :
b. about40.7° éers rec mode d. about37.8° | S, L =X

W= sin €.14)
W= £2.2° 6




___ Name; _ DA

28. Inan obstacle course, participants climb to the top of a tower and use a zip line to trave! across a mud pit. The zip
line extends from the top of a tower to a point on the ground 48.2 feet away from the base of the tower. The angle
of elevation of the zip line is 33°, What is the length (x) of the zip line? Round your answer to the nearest tenth of
a foot. . Y g. -

. | c o s 332 =22

<
- T
i or %in S'Q- ==

Co$33 ‘-{31 ®x= 5.5

S ot drawn to scale S K Cog 33 ;‘-i?.‘l_
a. about74.2 ft ¢. about8851ft - 4€. X
b. about31.3ft @ about 751 Lryvyc

31. In the diagram, V/¥'=3, WX =4,and VX=8.1Is
WX tangent to (D ¥?

29, tan 106° '
2 about 15706 ~4%¢ Calen et

b. ~about 1.5614 3*‘3 e Mﬁlﬂ
& about-3.4874 w4

d. about-—1.0592 _ ) V i
5~

- 30. Find the area of the triangle. Round your answer to
the nearest tenth.

Law @'(; Cosines. §K}Po
.f-
Om g 1s =6

* 32. Inthe diagram, point X is a point of tangency,
MK =720, and MN = 648. What is the radius of

OFk

a. about 503.0 units?
b. about 234.6 units? .
¢. about 258.8 units? : -2 . ?
d. about $55.0 units? g@ ;g Y O N2o = (?( +EY )
' : -t
© 2 ot SIB IR A T6x4

- 'l |
GF4% 296 7 ¥ 9%

1246 [agd 51,400 = 1296+ Y7904
- q -419 96
N6 =% 7 -Y419, fok%
q?ﬁ‘i‘ﬁ =/ 296




Name: ' L _ID: A

33. Inthe diagram, MN is tangent to (DK at M, NP is ] 35. In the diagram, m2J = 39.5°. Find K.

tangent to COK at P, MN = 128, and NP = 2x + 70, : - '
Find the value of x. ' Bq' 5 x 2= Q?
P
M AN
MV ZNP # - 11
N
. ¢ 101

é} =29 - 2 CD@ZIOID |
= e Ax+10=1A% %= b miK=7%°

o x=-9 20 -0 | e WIK-1a05
d x=38 1y = 58 , d  mIK =50,5°
34, In the diagram, NQ is a diameter of OR, 36. In the diagram, m<SUR = 32°, Find mRS and
— (6x+33)°, - ‘Fi . -
z (6x +33) .Ja/nii\mNP ES/—:iOx) Find mZSTR 32_’(‘2 = €Y
o,
Ex+33= 5 +10x
oy — 0 —6x —&x
R
' 33 =% +4x
P -5 % & ImRS = 64°, m/STR = 32°
(o> mP = 150° b. mRS = 64°, m/STR = 18°
b. mMP =75 c. mRS =32°, mLSTR = 64°
A— e,
. mMP=92° d mRS = 148°, m/STR = 74°
d. mMP=223° 37. In the diagram, m£ORP = 5x°, Find the value of x.
E«+33 75
6(2)+33
4a 333
ns 9
0§
N | -
j]S§0 =m




Name: _ ID:A
38. In the diagram, line m is tangent to the circle and 41. In the diagram, KN =4, JN =20, LN =10, and
ML ABD = 79°. Find mAB. MN = x. Find ML.
py ' I‘J C? M
' %®
.. x e e — X Li .‘“"’ 'm 4 J
N 58 '
\ ) ] 10 10y = 4 (20)
i
= L 1Oy = ?G
ML =18 el
Q mAB = 158° b.ML 3 5L
b mAB=79° ML=80— e e = R
. mAB=101° & MM R = 8
d. mAB=316° 42. In the diagram, KN =x — 1, JN =x + 20,
39 (.j’-) 10. % = K= 3 ("7_) LN=x+11,andMN=x+2. Findthevalueofx.
B >~ -
L] = x-823
+¥3 + %823
] 0% X M
D G
@ - 104 G x-7 iy 3
c x=72.5 e x=6 . 3236‘7‘.‘"7’&
d. x=166 d x=25 -0 +2e
40,

x=135

b, x=75
c. x=21
d..x=77.5 ?0 {14 -x
~{t5 =l1g
(1) ~35 === (=)
35 = A

x=4
b, x=7.5
c. x=28
d x=13.3

(/8

g§= T=+8Y

~€% - €

31~ O

S
H=x




Name:

44. Inthe diagram, RP = 18, PO =x+ 16, RS =x -+ 14,

In: A

46. Write the standard equation of the circle shown

aWne of x below. . (~nter- (;)1 “1)
s 34)= (xt1Y) - r=
| s NS, 2o +24) S AT
‘ £ . :}‘T) N o Y11
1942 =2k 4 52t | = el
336 | -y ?
) )
T O’:’R.xi*_;l{.x_:zqg (’7( ¢ ﬂ‘l-(y 5]
c? = 3 1x-138
e 23Un=6) ) L ek )2

%&13 =0

* 7

45 @

202
50,0
c. RS=0692
d RS=1.1

@st
A

4 51'-:. ~< (x+40)

AOAS =K +0x
0 = %44 0x - 2028
-_'__i JE‘«"’&.C

F¥A
Yot Yo=Y NE2028)

K= -

261
w= —H4ot g0+ Bl

2
- -Yot—J 4700 _5%.5

W - e s .x_ =y
x =z 04935 A= 28,25

-y

~A3

2z

x-€ =0
=6

x+2) +(y+1

)
(x=2)"+(y 1)2
) =

c. (x+2) +(y+1 :

+(y+2) =25
h K

47, The point (—?;— gis on a circle with center (8, 4),
Write the standard equation of the circle,

@(x—zaf +(y—4j2 =410 Lo @

b (x+8)°+(y+4) =410 et
fase

d (x+1)°

c. (x-4)+ [y—S)Z =410

(y~4)2=m

48, The equation of a circle is
x* +y? — 10x — 6y +25 = 0. Find the center and the
radius of the circle, Then graph the circle.

a. enter; (_5, 3),radius: 3

T+ | See i

d (x—8)"+




93.

TZe dictance Com (3,9) 4 (-4,-1)

ES f‘lc f'di.lﬂ.&_s 6'P f'he C!“ft/-f'.

1=
A+ 238G =t
hio =rt
T =Jr
~q =r

(x-h) 4 (=) =
(x-3) ¢ (-4 =100

‘7(1_}7'2#’07(__ 67 i_;’;:- O
&L__m#)q,(yt_ér) ==-25

(101 +25 1Oy % 67 $9)=-2% -i-JSC;*

(ux—g)l{. (7=-3)1': 9
Cente” (6,3)
r=2> —J§ =73

10

—— g 1"" >
== % S =25

4 T
- <3 2 =9
(x*- jox425)

(—;w%-)(-vt-' S)
x5

C;rq—'* 6 -Fﬁ)
T
L=




_ Name: N L ID: A

b, center; (—5, - 3), radius: 3 50. The diameter of () 0 is 14 centimeters. Find the
T arc length of PR. = ’7
[— - =12 rilm _': -
0
Ve a. about 476.00 cm
7 b, about 14824 ¢m
[ [ & about 4.15 cm
d about8.31 cm
: x : - 51. Find msZLMN.
d. center: (5, 3), radius: 6
4 N\
) ]
) A :
X .2 T ¢ S?
w ’ qa" 3 - '56&

a. about 791°

49. The circumference of a circle is 34 centimeters. b.  about 5° N - ,'x-% « ]O ;T\

Find the radius of this circle, c. about 126° 4. -'_"béu —

&. about213.63 cm Cd> about 164° —r—=— ) T

é about 10.82 cm C?O?) {Ou
> about 5.41 cm _ - % SO
d. about 106.81 cm é}éb) YSSE * e ¢ J_
C =0 r
1... 165. 9= x
Y= Anr

(~7w) 7

1
S5.Y=




v Name; . Ib: A

52, Two identical gears with a 8 centimeter radius are
10 be connected by a chain, The distance between
the centers of the two gears is 44 centimeters. What
length of chain 15 required to wrap around both
gears and form a complete loop?
a. about113.13¢m
b. about 104.00 cm QK};? VAR
c. ‘about 138.27cm
d. about94.27 cm

6. Wallpaper is to be applied to the wall sutrounding
a Norman window (2 shape made by placing a area
semicircle on top of a rectangle). How many square
feet of wallpaper are required to cover the wall
surrounding the window?

53. Convert 186° to radians.

Arx
L @Fw gy.w

b &0 rad -?-4_ ,3,3' 5’
c. ? rad i?O >
d 3lzxrad . "_3_7_’{_’? 19. 2 &

. )
54, Calculate the area of a circle with a diameter o

10.8 centimeters. -
s, abouwt13sr2em ¥ = S'.»H

b. about 67.86 cmy? ~—
¢c. about 366.44 cm? /4:' nr

@aboutf)l.ﬁl cm? /"' :'.}'j\'( So"i)l
55. Find the area of (Y. Az C{l.é) é)‘ri

13ﬂ

about 131.00 ft* 0%
about 96.24 ft - N1

about 11176 1% . 19,25
about 147.52ff" "

1. s

7. Find the area of the rhombus.

18 o XY T

(@Sabo t 263.08 m? %50 5‘1" ’-Olrf.‘l :

b. about 2375.83 m 7.0% (.01 i 40 m?

A
A

c. about 826.48 m’ 83.9= ¢ /_’l,.-,-_,
A

d. about 1547.65 m>
q I3 ff*:. ra

F“1
- r

A= @8 b
4. A 42630
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58. Youneed to create a hole 11.7 inches deep for a
post that is in the shape of a cylinder with a radius
of 7.2 inches. You will be using a drill bit that
rotates around a vertical axis, positioned such that
the axis is attached fo the side of a rotating

. polygon, What characteristics should the drill bit
have to create the desired shape?

a. right triangle with vertical height 7.2 inches
and a horizontal base 11,7 inches
b. right triangle with vertical height 11.7 inches
and a horizontal base 3.6 inches
c. rectangle with vertical height 7.2 inches and
~ hotizontal width 11.7 inches L
@ rectangle with vertical height 11.7 inches and
~ horizontal width 7.2 inches

Find the volume of the prism..

59.

a. 211.25¢em’
b. 31cm’
c. 845cm’

D 1225w’

B:-lilp% vz (5h

a=L 38 v=(32.5)03)
V= 4922.5 ¢n°

R= 3% 3

13

L AD: A

Find the volume of the cylinder.

60,

a. about 134.77 cm®
b. about 269.55 cm®
c._ about 1482.52 cm’
@about 741.26 cm*

vz 34

£.5)° y=95.03 (7.8
' 7
- §5.03 V=
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61, Cylinder X and Cylinder Y are similar. The volume

of Cylinder Y is 89 em’. Find the volume of
Cylinder X.

______________

Cylinder X

v=39
Cylinder Y

a. 45cm’
> 712 o’

c. 178 cm’

d. 356 cm’

1. 5
?,1 2=t

R4(8)= UL er’

62.

5¢m

1
a. 225cm’ V: > 5 L !
c) 75Scm —_ 3
4L 2saw V.= 15 ¢~

63. Find the volume of the composite solid.

b. 2
dBRT 2 12()(712)
v 121
'?yr_az«fl :
R=203) VB K
= y=4d gyE) T 83T
2160

v =43



a. about 196 cm’

b. about 1436.76 cm®

c. about 179.59 cm®
about 615.75 cm®

S = YNay®
s=Ym(n*®
& = Y%

s = j4dT
Sz 615.%

15

Name: e ID: A
Find the surface area of the cone. C = 7-17"!‘
66. 197 = Rar
w2 T
6. 4/ \4 S=lir+med ) 9.5
a - = 19‘R cm ’ -
; S F T CHIA -
N4t A L S=Yir 13497
qial=At ¢ = 2240
gg":‘e’t f’" N N\ S+ 0.91% 3 AN
- a. about 283.53 cm? _ :
.22 "{ : b about 113411 em? 9= 14T (30.2¢/
2. about 163.36 cm c. about3s9li6em’ § = JEIIT
(&> about 70.49 em d. about 4536.46 cm’ ]
c. about 140.99 cm® 5"'-'- ?/3 Ll a {
d. about 150.8 cm> 67. Find the radius of the sphere.
Find the surface area of the sphere. Sl Span”
65.

<z Yagrt

- a about2.86cm _ 1
b. about 3.63 cm ]Lf g Lfﬂf
. about 1.21 cm E———— T
éabout 1.9 cm (Lf W) <i -
3628 =™
3.62¢ “:15;-\
1.9 =~




Name: e _ : e ID: A

68. A snowball has a radius of 7 centimeters. What is
the volume?

Vo He?. "53 7
a. about 538.78 cm’
(B> about 1436.76 om® V= 1936.9

c. . about 615.75 cm®
d. about 196 cm®

Multiple Response A’ - m A C i "
Identify one or more choices that best complete the statement or answer the question. T c“'s cc {-ﬂ,. T g ?’ﬁ 4

69. What is the area of the shaded region formed by ZABC?

2.3
AI*QAQ,C: ‘:;;c') ?ng })

- ,7.3 = (26-02)

= 13.719

a. 817cm? (&> 18.79 em?

b. 263cm? d. 223cm”

16




Numeric Response

L w6l
-0, ﬁgq yy= = (2)
_ YA ANE TP S
62 W, e £t
p WM =x

-2 9 ag2y =batl
aﬂ"‘z 1 “-z“ ‘tﬁ
b6 s M =Hats
n -+ -
én + . L =Yy ¥
N =Y
an-+6 3'_0 ——
_ y 9
4.5) B.4 C.16 D.17 S <A 75.
. 73. Determine whether ARST or ALMN is similar to
AABC.
C 15 A M
13 RN
16
B
30
40 37.5
428
L 1
T nex
325 ge9®
s

A ALMN ~ AABC
ARST ~ AABC
C. Both triangles are similar to AABC D.

Neither triangle is similar to AAdBC

17

74. A 4-foot tall girl stands 6.5 feet from a lamp post at

night. Her shadow from the light is 2.5 feet long.
How tall is the lamp post?

B.15.2 ft @.4 £ D

$ee 71t page

A 178 ft
13.7 1t

‘Find the volume of the cylinder.




5
32
ALMY
> ORST
AABC + ARST AARCY AL
LA _ 3T
AR T 16
Lo 325 o ¢
3 I3

AARC Q\A { AV




7l

Li

(s

- 9
L
“‘:‘i"‘:z.s
.S = 36
2.5 s




Name: ; 1D: A

76. Determine whether the triangles are similar, If they
are, write a similarity statement. Explain your

reasoning,

130 /&
- 13 ~hL
A 4D
g:%’es, ADCU ~ ARFP.
B. No, the triangles are not similar,
Problem
77. CD | 78. SR (N +B

. -

A4 B2 &N D12

A2 @ C.4 D.20

=4 GH
:«f-:iicm 2(RS)=Rc
| | 2 3w+ B) = LY Yy R
o= bt 16 = Ax X1 TT'?
~Tx ~ZA ~ =2
Y +7¢ =Y
-le 6

18 Lic{ _::g




